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Hector is measuring the boundary of a new garden. He wants the garden to
be square. He has set each of the corner stakes 6 feet apart.

What does Hector need to know to make sure that the garden is square?

6 ft 6 ft
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Parallelogram ABCD has vertices at A(— 2,—1), B(—I, 3), C(3, 2) and D(2, -2).

Show how to determine whether /—7ABCD is a rhombus, a rectangle, or a square.

Understand

1y

Plan
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Using Coordinate Geometry Part 2

Parallelogram ABCD has vertices at A(— 2,—1), B(—I, 3), C(3, 2) and D(2, -2).

Show how to determine whether /—7ABCD is a rhombus, a rectangle, or a square.

Solve

Check
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Parallelogram JKLM has vertices at J(5,0), K(8, —I 1), L(— 3,—14) and M(-6,-3).

Show how to determine whether /—/JKIM
is a rhombus, a rectangle, or a square.
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A B

Quadrilateral ABCD is a rhombus. Show how to find E

each value or measure.

D c
A. If m£BCD = 64, find m£BAC B. IfAB=2x+3and BC=x +7,

find CD.
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rhombus n. a quadrilateral with
all four sides congruent

square n. a quadrilateral with
four right angles and four
congruent sides
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Theorem 6.15: Diagonals of a Rhombus

Fill in the blanks.

Words If a parallelogram is a rhombus, then A B
its diagonals are

Example If ZJABCD is a rhombus, then
AC  BD.
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Theorem 6.16: Diagonals of a Rhombus

Fill in the blanks.
Words If a parallelogram is a rhombus, then
each diagonal a pair of N

opposite angles. v
Example If ZNPQR is a rhombus, then A

L=/ 3=/ ,45=/ R Q
and L7=ZL
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The diagonals of rhombus WXYZ intersect at V.

Using the given information, show how to find

each measure or value.
z Y

a. f mZWZX = 39.5, find m£ZYX. b. f WX=8x—5and WZ=6x +3,
find x.
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Parallelograms

Complete the heading with a symbol and label each section of the Venn
diagram Squares, Rhombi, or Rectangles.

Parallelograms
(Opposite sides are ..)

E:jE:E




image6.png
Proofs Using Properties of Rhombi and
Squares

Consider ~—7LMNP and the given information L
and write a paragraph proof. v
Given: LMNP is a parallelogram.

Zl=/2and £2= 246 A
Prove: LMNP is a rhombus.

Proof:




